1. SEERZARE

THAEE BHRZ2ARSER

4348 w4 $H5 =
47 B | eA | 78 B | 98 [10H|[11A|12A] 1A A | 38
DrF7ORNBICEHDEE 0 1 0 0 1 1 0 0 0 0 0 1 4
OE AU - BIRICBEH SEIE 0] 0 o0 0 o o0 0 0 0 0 0 0 0
QU EEE - EE - BES 0 0 0 0 0 0 0 0 0 0 0 0 0
@FIE, %, EECEHIEBE [ 0 0 0 0 0 0 0 0 0 0 0 0 0
Bz it 0 1 0 1 0 0 2 0 0 0 0 0 4
Bt 8
(fHR) HEOFOM 1) 58 BEORE (hEFmEsRY—ER] 2) 70 :ERAIEENERZORT) (BE- 23— X TA1]
3) 10A 24 : ®n (HEFEFER G —ER]
2. BEZMRR
ERE ﬂT;E B | eA | 75 B | o8 108118128 ﬂ?§$ A | 38 Bt
$E-a— bRTA 0 1 0 1 1 1 0 0 0 0 0 0 4
FAH—ER 0| o 0 o | 0] 0 0 0 0 0 0 0 0
BENEXE 0 0 0 0 0 0 0 0 0 0 0 0 0
i mEM S —ER 0 1 0 0 0 0 2 0 0 0 0 0 3
ECTh BB ELE 0 0 0 0 0 0 0 0 0 0 0 1 1
BHAL TLERACELE 0 0 0 0 0 0] o 0 0 0| o 0 0
& 8




